Chapter 13: Intelligence

100 MCQs
1.

Why do humans care so much about intelligence?
A.

It sets us apart from other animals

B.

It has implications for our advancement

C.

It can affect our selection

D.

All of the above

2.

Which is NOT a domain in which intelligence testing is used?

A.

Parents wanting to know if their child has a skill deficit
B.

Teachers wanting to know how to give each student the best learning environment
C.

Businesses wanting to know how to spend money on training
D.

None of the above
3.

Intelligence deals with a great many different areas, however which is a question that psychologists try to answer when studying intelligence?

A.

Is it possible to compare intelligence cross-culturally?

B.

Can intelligence be effectively measured?

C.

Was Einstein’s intelligence of the same kind as Mark Twain’s, Leonardo Da Vinci’s, or Helen Keller’s?

D.

All of the above

4.

Galton considered intelligence to be ____.
A.

Not heritable

B.

Similar between most people

C.

A property of our nervous system

D.

The product of social differences

5.

Galton believed which one of the following?

A.

All men are created equal.

B.

Women are more intelligent than men.

C.

Unintelligent people should be encouraged not to have children.

D.

None of the above.

6.

Galton ____.

A.

Was not interested in measuring intelligence

B.

Constructed extensive family trees to look for patterns of intelligence

C.

Did not employ scientific theory to the understanding of intelligence

D.

Can not be credited with the first systematic exploration of intelligence

7.

Which one of the following is true? The concept of intelligence:

A.

Was devised to stop poor people from getting ahead in life.

B.

Was borrowed from the domain of computer science to help explain how we think like computers.

C.

Was first proposed by a psychologist called Descartes. 

D.

Helps us to understand individual differences in people’s abilities.

8.

What does the normal distribution tell us about intelligence?
A.

There are a small, but unpredictable number of people of high intelligence

B.

There are a large, but predictable number of people of low intelligence

C.

It allows us to compare people’s level of intelligence
D.

Most people will fall into the range of low intelligence

9.

What is NOT an achievement that Galton introduced to psychology?

A.

Bringing statistical understanding from the physical sciences

B.

Establishing the concept of the normal distribution

C.

Introducing the idea of co-relation

D.

Pioneering work in the ethical treatment of participants, and equality for the masses
10.

How are the numbers of cigarettes smoked correlated to life expectancy?
A.

Positively related

B.

Neutrally related

C.

Negatively related

D.

Not related

11.

What do the use of normal distributions and correlations allow us to predict?
A.

How our abilities vary in relation to each other

B.

How our abilities vary in relation to the population

C.

How well we can use scores of one variable to predict scores of another

D.

All of the above

12.

Which is NOT an attribute that Galton studied in order to understand intelligence?

A.

Head circumference

B.

Height

C.

Verbal ability

D.

Hand size

13.

Which was NOT an intellectual measure used by Galton?

A.

Sensory-motor tasks

B.

IQ tests
C.

Reaction times

D.

Estimates of participant eminence

14.

Charles Spearman (1904) set out to estimate the intelligence of 24 children in his village school. He discovered a relationship between each child’s performance in a number of domains (including teachers’ ratings of ‘cleverness’ and ratings by other students of their ‘common sense out of school’) and measures of their ability to discriminate light, weight and pitch. In other studies, he found strong associations between scores on examinations in different subject areas such as classics and maths. Linking together these strands of evidence, Spearman concluded which one of the following statements to be true?

A.

The height of the child and the light in the room affected their ability to learn and hence their IQ.

B.

Intelligence must be a general facility, like a mental energy that is applied to all tasks. 

C.

Teachers were poor judges of their students’ abilities.

D.

Trying to measure intelligence in children was an impossible task.

15.

What is NOT a determinant of measurable intellectual differences determined by Spearman?
A.

Social

B.

Unitary

C.

Biological

D.

Inherited

16.

According to Spearman, why do people differ in their general intelligence?
A.

They have had different educations

B.

They have different amounts of mental energy, ‘g’

C.

They have had different diets
D.

All of the above

17.

Binet made a significant contribution to the study of intelligence – but which one of the following is NOT true about him?

A.

In 1904, Binet was charged by the Parisian authorities to develop tests that would identify children in need of special education, without relying on the subjective reports of parents or teachers.

B.

Binet’s technique for constructing the first test was based on an important insight: whatever intelligence is, we can be sure that it is constant with age. 

C.

The first intelligence test was based on the central idea that the age at which the ‘average child’ can succeed at a particular problem is an indication of the difficulty of that problem. 

D.

Using Binet’s yardstick, children can be characterized as ‘average’, advanced or delayed in their rate of development compared to their peers.

18.

How were Binet’s theories different than Galton and Spearman?
A.

He focused on the universalities of human intellect

B.

He proposed intelligence changes based on developmental stages
C.

He thought we should concentrate on the higher faculties rather than low-level neural processing

D.

All of the above

19.

Calculating IQ can help us to understand a child’s abilities relative to his or her peers. Which one of the following is true?

A.

A child scoring better than the average child of his age would have a lower MA than CA.

B.

A child scoring worse than the average child of his age would have a lower MA than CA. 

C.

A child who has an IQ of 100 is exceptionally intelligent.

D.

A child who has an IQ of 100 is likely to know as much as an adult with an IQ of 100.

20.
Which of Binet’s IQ tasks do psychologists still use today?

A.

Defining words such as house or wheel

B.

Pointing to body parts

C.

Repeating back strings of digits

D.

Both A and C

21.

Binet’s IQ test was of a range of tasks of increasing difficulty, which task was considered most advanced?
A.

Following a lighted match with your eye

B.

Defining words

C.

Repeating back strings of digits

D.

Shaking hands with the examiner

22.

Which is NOT a rule that Binet specified for IQ tests?
A.

Tests must be standardized

B.

Tests must be presented in random order

C.

Tests should be administered one-on-one

D.

Examiners should establish a friendly rapport before beginning the test

23.

Which one of the following is true? Practising items on an intelligence test will improve:

A.

Your IQ test score. 

B.

Your intelligence.

C.

Your general level of ability.

D.

Your memory.

24.

Which of the following have been found to be correlated to IQ?
A.

Total years of education

B.

Supervisor ratings of job performance

C.

Socio-economic status

D.

All of the above

25.

Which is NOT an idea that the calculation of IQ established?

A.

Intelligence can be expressed by a single score

B.

Judgments and reasoning tasks can be used to define intelligence

C.

Tasks can be combined to give a better picture of intelligence

D.

Psychometrics is no longer a reasonable way to study intelligence
26.

What part of the IQ test did Piaget realize was the most informative?
A.

The total test score of mental age
B.

The total test score of chronological age

C.

Errors on intelligence tests

D.

Both A and B

27.

Which of the following do we know to be true?

A.

Most children who are good at maths will not be good at spelling. 

B.

Children who are good at maths are unlikely to be good at anything else, as maths is a very specific ability.

C.

Children who are good at maths are very likely to become maths teachers.

D.

None of the above. 

28.

By observing his children at play, what did Piaget come to believe?

A.

The errors that people make on intelligence tests are more informative than their total score.

B.

The rate of cognitive development varies between children.

C.

All children passed through the same stages of cognitive development eventually.

D.

All of the above. 

29. The prestigious journal Science identified which of the following as one of the most significant discoveries and developments of the twentieth century?

A.

Binet–Simon scale.

B.

Reaction time.

C.

The Eugenics movement.

D.

The concept of IQ.

30.
Which statement does NOT support positive manifold?
A.

Correlations between ability tests tend to be positive

B.

Different ability tests tap different underlying factors

C.

Einstein and Mark Twain’s genius came from the same source

D.

There is only one type of intelligence that is applied to different areas of interest

31.

People who are better than average at vocabulary intelligence tests will also be better than average on what type of test?
A.

Mechanical reasoning

B.

Solving analogies

C.

Arithmetical calculations

D.

All of the above

32.

What is factor analysis?
A.

A data reduction technique

B.

It identifies how information is separated into units
C.

Both A and B

D.

Neither A nor B

33.

Which statement concerning Horn and Cattell’s intelligence factors is FALSE?

A.

Fluid intelligence is an overarching processing capacity

B.

Crystallized intelligence contributes to fluid intelligence

C.

Crystallized intelligence represents diverse skills and knowledge

D.

Crystallized intelligence is developed over the lifespan

34.

Three of the following statements correctly describe fluid intelligence. Please highlight the ONE that does NOT. Fluid intelligence:

A.

Is one of two factors identified by Horn and Cattell, which they labelled Gf and Gc.

B.

Was, according to Horn and Cattell, of similar importance to crystallized intelligence. 

C.

Seemed to represent something akin to Spearman’s g.

D.

Seems to be differently related to ageing than crystallized intelligence.

35.

What did the American Psychological Task Force on Intelligence conclude about the underlying mental traits of intelligence?
A.

Using a single factor (g) leads to a better conception of intelligence

B.

Intelligence is more accurately conceived as two traits (Gf and Gc)

C.

Intelligence is more accurately conceived as two traits (fluid and crystallized)

D.

It is best to use Thurstone’s 7 primary mental abilities to conceptualize intelligence
36. Which one of the following statements is FALSE?
A.

Carroll and the APA Task Force on Intelligence have concluded that there is now a strong consensus that the inclusion of a g factor leads to a better factor structure when attempting to interpret findings obtained from ability testing.
B.

Thurstone’s ‘primary mental abilities’ themselves correlate well with each other.

C.

Horn and Cattell’s crystallized and fluid intelligence correlate poorly with each other. 

D.

Thurstone himself acknowledged the existence of a general factor (i.e. a factor that all the original tests are correlated with).

37.

Why did Jensen think that studying reaction times was important?
A.

Conventional questions were not accurately depicting intelligence

B.

It would avoid cultural bias

C.

It is easier to quantify

D.

Reaction times make more statistical sense

38.

Which is NOT a criticism of reaction time studies?
A.

It can be confounded by the speed of motor responses

B.

It may really be measuring the organization of task strategies

C.

It had no theoretical grounding in neuronal explanations

D.

It is not a pure measure of speed of intellectual processing

39.

Which statement about the speed of information is FALSE?

A.

It has been measured by response to the onset of a light

B.

People with higher IQs respond faster in reaction time tests

C.

It was proposed to be the basis of the individual differences found in intelligence

D.

People with higher IQs are less consistent in their responses 

40.

Inspection time is:

A.

The time it takes for us to respond to a stimulus. 

B.

The amount of time we need to see a stimulus before we can accurately process it. 

C.

The amount of time it takes us to complete an intelligence test.

D.

The time that it takes us to completely process something that we have never seen before.

41.

Which statement about the inspection time task is FALSE?
A.

Participants with high IQs have inspection times of about 100 ms

B.

There is a version of the task that resembles ‘Space Invader’

C.

Children with intellectual disabilities cannot discriminate between the stimuli

D.

It predicts about 25% of the individual differences found in intelligence tests

42.

Research has found correlations between IQ and_________.

A.

Brain evoked potentials

B.

Cerebral glucose metabolism

C.

Nerve conduction velocities

D.

All of the above

43.

The biological basis of general intelligence is thought of as reflecting differences _____.

A.

Between individuals in the speed with which information is sent to the nervous system

B.

Within individuals based on changes in food and drug intake

C.

Within individuals in the efficiency with which information is sent to the nervous system

D.

All of the above

44.

The principle of general intelligence or ‘g’ tells us that which of the following statements is FALSE?

A.

Children who perform well in one school subject and poorly in another are generally being lazy. 

B.

Adults who are good at many things are likely to have high levels of ‘g’.

C.

Most children who suffer from mental retardation will have functional deficits in many areas of their life compared to other children of the same age.

D.

Our ability to approach novel problems will be easier if we have a higher level of general intelligence.

45.

Which is a criticism, posited by Gardner, against the one factor classical theory of intelligence?

A.

It reflects a western bias towards logical reasoning

B.

It reflects a cultural bias of the western education system

C.

It focuses on logico-mathematical abilities

D.

All of the above

46.
Which one of the following statements is correct? Gardner’s theory of multiple intelligences states that:

A.

We all have high intelligence in some domain.

B.

We have both general intelligence and specific abilities. 

C.

We are all better (more intelligent) in some domains than in others. 

D.

All of the above.

47.

Which is NOT an example of the multiple intelligence theory?

A.

Linguistic

B.

Artistic

C.

Naturalist

D.

Spiritualist

48.

Which of the following evidence does NOT support Gardner’s multiple intelligence theory?

A.

Existence of savants

B.

Examples, like Mozart, who were geniuses in one domain but ordinary in others

C.

Positive manifold

D.

The constraint that the ability should be culturally valued

49.
Which is a criticism of the multiple intelligence theory?

A.

There are no proposed specifications of the multiple intelligences consist of

B.

There is no explanation of how multiple intelligences work at the social level

C.

There is no evidence for the true autonomy of intelligence

D.

All of the above

50.

Which one of the following is NOT part of Sternberg’s Triarchic Theory?

A.

Performance components.

B.

Knowledge acquisition components.

C.

Metacomponents.

D.

Megacomponents.
51.

The triarchic theory of intelligence proposes three types of intelligence, which one does NOT belong?
A.

Analytical

B.

Creative

C.

Bodily-kinesthetic

D.

Practical
52.

Which is NOT a characteristic of the performance components of the triarchic theory?
A.

They are information-processing mechanisms

B.

They are involved in the storing of tasks

C.

They are invoked by a particular sequence of operations

D.

They contribute weakly to individual differences in intelligence

53.

Which cognitive component is responsible for gaining and storing of information-processes such as memory?
A.

Knowledge acquisition component

B.

Performance component

C.

Metacomponents

D.

All of the above

54.

Which is NOT a characteristic of metacomponents of the triarchic theory?

A.

Evolve performance components for own functions

B.

Executive processes

C.

Account for the major individual differences for intelligence

D.

Responsible for recognizing the nature of the problem set by a cognitive task

55.

Which is NOT a criticism of the triarchic theory of intelligence?

A.

It is simply a restatement of how intelligence is manifested

B.

It does not explain how these intelligences work
C.

Research does not support the notion that creative intelligence predicts life success

D.

It does not explain how intelligence is manifested
56. Twins are often used to test the genetic bases of constructs such as intelligence. Which one of the following is true?

A.

Identical twins are likely to be good at very different things because they ‘split’ their different intelligences.

B.

Fraternal twins show lower concordance between their levels of intelligence than identical twins because they do not share any genes in common.

C.

Identical twins have very similar levels of measured intelligence because intelligence is highly heritable. 

D.

Fraternal twins rarely have an IQ above 100 because they have had to share their genetic material.

57.

Which of the following statements about theories of intelligence is FALSE?
A.

The nature of mental retardation is a test-bed of any comprehensive theory of intelligence

B.

Savant syndrome is important to the study of intelligence because it is an anomaly

C.

A theory that wishes to characterize ‘intelligence’ need only explain what is normal

D.

Theories have moved towards understanding individual differences in normal intelligence

58.

Which TWO of the following statements do NOT accurately reflect Detterman’s claims?

A.

He claims to have solved the two major (and related) oppositions in the history of intelligence theory.

B.

He regards intelligence as a low-level property of a complex intellectual system. 

C.

He believes that general intelligence is real, but rather than being a single ‘ability’, it is better viewed as a high-level property of a complex system composed of multiple intelligences.

D.

He believes that children who are intelligent are likely to be very quick at completing all of their schoolwork. 

59.

Which is NOT an opposition of intelligence theory that Detterman claims to have solved?
A.

Intelligence as a low level, global property of all intellectual operations vs. a high-level, complex intellectual function

B.

Intelligence as a general ability vs. intelligence as specific abilities
C.

Both A and B

D.

Neither A nor B

60.

What is Detterman’s solution to the debates in intelligence theory?

A.

Differences in single abilities give rise to differences in general intelligence

B.

Performance of any complex task requires only a few abilities

C.

General intelligence represents an average of the processing of several independent components

D.

All of the above

61.

What evidence does Detterman give, to support his theory?

A.

Measures of basic cognitive functions have low correlations

B.

No single task correlates with ‘g’ as highly as it should

C.

Both A and B

D.

None of the above

62.

Autistic children are a special case which must be explained for a theory of intelligence to be considered valid. Which one of the following statements is also true of autistic children?

A.

They have low speed of information processing.

B.

All have one exceptional ability, such as art or calendrical calculation.

C.

They are thought to have modular damage resulting in difficulty processing social information. 

D.

All have low IQ except savants.

63.

How is Andersen’s synthesis of intelligence research different from Detterman’s?
A.

He is not interested in the debate between low-levels and high-levels of intelligence

B.

He incorporates a developmental dimension

C.

His theory does not address issues of general and specific abilities

D.

All of the above

64.

According to Anderson, which one of the following is true?

A.

Intelligence can be taught.

B.

The amount we know increases as we develop. 

C.

The speed at which we process information increases as we move from childhood to adulthood.

D.

Intelligence is a flowchart.

65.

According to the minimal cognitive architecture theory which statement is FALSE?

A.

Intelligence tests do not assess intelligence

B.

Knowledge is acquired through two different processing routes
C.

The processing routes are related to individual differences and cognitive development

D.

We gain knowledge through speed of information processing and modular development

66.

How do people engage in thoughtful problem solving according to the minimal cognitive architecture theory?

A.

Verbalizing a problem

B.

Using language-like propositions

C.

Visualizing a problem

D.

All of the above

67.

According to the minimal cognitive architecture theory central processors ___.
A.

Produce complex thoughts at slow processing speeds

B.

Are not the sources of individual differences

C.

Generate knowledge acquisition routes

D.

Are not related to the basic processing mechanism

68.

Which of these is NOT the case, according to Anderson?

A.

The first route to knowledge is through dedicated information-processing modules. 

B.

The modular route is related to cognitive development.

C.

Modules have evolved to provide information about the environment that cannot be provided by central processes of thought in an ecologically useful time frame.

D.

If we had to ‘think through’ all the perceptual information presented to us in order to construct a three-dimensional view of the world, we would literally be lost in thought. 

69.

Which of the following is NOT an example of a module in the minimal cognitive architecture theory?
A.

Language acquisition devices

B.

Face recognition systems

C.

Core computational procedures involved in acquiring a theory of mind

D.

None of the above

70.

Modules in the minimal cognitive architecture theory _____.


A.

Do not cause developmental change

B.

Are dependent of variations in the speed of the basic processing mechanism

C.

Operations are independent of differences in IQ

D.

Are not available to people with intellectual disabilities

71.

Mental retardation is a complex phenomenon that tests our understandings of cognitive development. Which one of the following statements is FALSE?

A.

There are specific clinical aetiologies, including Down’s syndrome, Fragile-X, autism and

Praeder–Willi syndrome, that have little in common other than mental retardation.

B.

There is support for the idea that there are two distinct groups of people with mental retardation – those with known organic aetiology and those who represent the low end of the normal distribution of general intelligence.

C.

IQ is a poor predictor of functional abilities. 

D.

Mental retardation is a lifelong condition.

72.

Mental retardation _______.
A.

Diagnosis is simply a result of having low IQ

B.

Limits communication, self-care and social skills

C.

Makes up about 0.5% of the general population

D.

In severe forms, make up less of the population than the normal distribution allows

73.

The developmental and difference views are different approaches to understanding mental retardation. Which of the assertions below is FALSE?

A.

The developmental view states that while the retarded as a group are disabled with respect to their same-age peers, they go through the same (Piagetian) stages of cognitive development.

B.

According to the developmental view, retarded people simply develop more slowly.

C.

The difference view says that there is a fundamental deficit associated with mental retardation.

D.

According to the differences view, there can be cognitive equivalence between someone with mental retardation and a non-retarded person. 

74.

Identify the INCORRECT statement from those given below:

A.

A series of meta-analyses by Wiesz and colleagues (1986) split the developmental view into two components: (i) cognitive stages defined within a Piagetian framework and (ii) cognitive structures as defined by basic information-processing operations.
B.

Children with mental retardation go through different kinds of knowledge restructuring than those described by Piaget. 

C.

The majority of studies have found that participants with mental retardation perform more poorly on most cognitive tasks even when matched for mental age with the control group.

D.

The phenomenon, of ‘mental-age lag’ supports the difference, or deficit, position.

75.

Which view has been found to most accurately explain mental retardation?

A.

The developmental view

B.

The difference view

C.

Both A and B

D.

Neither A nor B

76.

How does Detterman’s theory explain mental retardation?

A.

Some abilities are more commonly used than others

B.

Higher level abilities are the same for all people

C.

People with mental retardation have deficient central abilities

D.

All of the above

77.

Which is NOT a criticism of Detterman’s theory in regards to mental retardation?
A.

You can only distinguish between central and basic abilities ad hoc

B.

People with mental retardation perform poorly on all tests of basic abilities
C.

People with mental retardation perform poorly on central tests of ability

D.

All of the above

78.

Which is NOT evidence that supports the minimal cognitive architecture theory?
A.

People with mental retardation are capable of executing module-based, complex perceptual processes

B.

People with mental retardation perform well on simple inspection time tasks
C.

People with autism perform well on inspection time tasks

D.

People with autism have difficulty with theory of mind information

79.

According to minimal cognitive architecture theory what is the cause of mental disabilities?
A.

Slow basic processing mechanisms

B.

Damage to a module leads to a general cognitive deficit

C.

Both A and B

D.

Neither A nor B

80.

How does the minimal cognitive architecture theory synthesize the developmental and difference theories?
A.

Modular functions are acquired according to a developmental sequence regardless of mental ability

B.

Mental retardation leads to slow speed processing which explains differences with same aged peers

C.

Cognitive development is determined by modules which eliminates cognitive stages

D.

Both A and B

81.

Which is NOT a talent shown by savants, despite their low IQs?
A.

Musical ability

B.

Factoring numbers

C.

Learning foreign languages

D.

None of the above

82.

According to the memory explanation of savantism ___.

A.

States that savants have very good rote memory systems

B.

The rote memory system is highly organized

C.

Does not require any practice

D.

Memory for domain relevant material is passive
83.

Which is NOT a criticism of the memory explanation of savant abilities?
A.

It does not explain artistic talent 

B.

There are some forms of memory deficits in autism

C.

Calendrical calculators can name days for dates for which no calendar yet exists

D.

Calendrical calculators can use abstract rules governing the calendar

84.

Detterman argues that savants falsify the idea that a single common ability underlies intelligence, what is NOT a criticism of this position?
A.

Abilities that savants display are not the same as Detterman’s component theories

B.

Savant skills represent rich high-level abilities in themselves

C.

Savant skills represent basic procedures of information processing

D.

Savant abilities tend to be specific and do not transfer to other aspects of the domain

85.

How does the minimal cognitive architecture theory explain savantism?
A.

Some modules have been spared from the generalized brain damage

B.

The generalized brain damage has not affected the basic processes

C.

There is a fundamental independence of the component abilities

D.

All of the above

86.

Which is NOT a characteristic of the Mark II modules of the minimal cognitive architecture theory?
A.

Fetch and carry mechanism

B.

Associative processes

C.

Long-term memory retrieval

D.

Ability to recognize mental representations

87.

According to the minimal cognitive architecture theory which module underlies the savant talents in art, music and language?

A.

Mark I

B.

Mark II

C.

Mark III

D.

Mark IV

88.

Which theory has been found to best explain savant syndrome?
A.

Detterman’s theory

B.

Minimal cognitive architecture theory

C.

Memory explanations

D.

Developmental theory

89.

Which of the following are accurate statements about IQ? (Please highlight all correct answers)

A.

IQ predicts academic performance.

B.

IQ predicts life outcomes such as adult income.

C.

IQ can be compromised by an extremely deprived environment.

D.

All of the above. 

90.

Which one of the following statements about intelligence is correct? Intelligence:

A.

Has low heritability.

B.

Is genetic and is not affected by the environment.

C.

In adopted children is more similar to the children they are brought up with than their biological relatives.

D.

Has a substantial genetic influence. 

91.

Which of the following statements is FALSE?
A.

Close relatives (parents and children, siblings) have identical genotypes

B.

Genotypes are our genetic complement coded in DNA

C.

Intelligence is a phenotypic measure

D.

Heritability is a statistic that represents the proportion of a behaviour that is due to genetic differences

92.

Which one of the following statements about factor analysis is FALSE? Factor analysis:

A.

Is a statistical technique developed by Alfred Binet for identifying how many ‘factors’ underlie a large number of individual pieces of data. 

B.

Has led to fierce debate about the relative merits of two different, but equally sound, approaches.

C.

As used by Spearman, found a general factor of intelligence (g) and some specific factors.

D.

As used by Thurstone, revealed seven ‘separate and unique’ primary mental abilities: word fluency, number facility, verbal comprehension, perceptual speed, associative memory, spatial visualization and inductive reasoning.

93.

Which one of the following statements is true?

A.

As we grow into adults and learn more things, our intelligence increases, unless we have a brain injury.

B.

As we grow into old age, our crystallized intelligence stays the same and our fluid intelligence declines. 

C.

As we reach adulthood, our modules speed up.

D.

As we reach adulthood, men show a decline in intelligence and women an increase.

94.

Estimating IQ can be achieved in several ways. Which one of the following is true?

A.

A person with an inspection time of 0.5 seconds is likely to be of higher intelligence than a person with an inspection time of 0.1 seconds.

B.

Galton estimated a person’s intelligence by their eminence, and this has turned out to be the best measure of intelligence.

C.

Reaction time is the best predictor of IQ as measured by the Wechsler intelligence tests.

D.

The Binet–Simon scale was the forerunner of the Wechsler intelligence scales which are the most widely used tests today. 

95.

Which one of the following statements about IQ is correct?

A.

An IQ of 100 is the score used to determine eligibility to join MENSA, the society for intellectually gifted individuals.

B.

An IQ between 90 and 110 is considered to be in the average range of intelligence.  

C.

Children with Downs Syndrome have an IQ of 0 (zero).

D.

As IQ scores increase, there are more people in the population with that IQ.

96.

Family studies have been used to help understand the role of environment in the development of intelligence. Which one of the following statements is true?

A.

Adopted children are likely to have intelligence closer to that of their adopted parents than their biological parents.

B.

Non-shared environmental influences affect the differential development of intelligence in siblings more than shared environmental influences. 

C.

Peers have a greater impact on differences in the development of intelligence amongst siblings than their parents do.

D.

Measured intelligence is completely uncorrelated amongst genetically related family members.

97.

Shared environment ____.
A.

Are differences within the same family

B.

Include levels of income, parental rearing style number of books in the home, etc.

C.

Make children in the same family different

D.

Explains why adopted twins still share similar traits

98.

Many researchers believe that heritability is important in general, as well as to the study of intelligence. Which of the following statements about heritability is FALSE?
A.

Estimates of heritability vary between 80-50%

B.

Confounds of twin studies account for 25% of heritability

C.

The heritability of intelligence is 50%

D.

The heritability of ‘g’ increases throughout our lives

99.

Research into the IQ gene _______.
A.

Has not been successful in isolating disorders like autism

B.

Show that there is a single gene related to intelligence

C.

Suggests that intelligence is polygenic

D.

Has not found a gene related to having a very high ‘g’

100.

What statement accurately explains racial differences in IQ?
A.

The difference is due to an inherent bias in IQ tests

B.

The difference is due to genetic differences
C.

The difference is caused by lifetimes of disadvantage

D.

Both A and C

